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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) The question paper comprises three Sections, A, B and C. There are 30

questions in the question paper. All questions are compulsory.

(it) Section A - all questions / or parts (question no. 1 to 14) thereof in this
section are one mark questions comprising MCQ, VSA type and
Assertion—Reason type questions. They are to be answered in one word

or in one sentence.

(iti) Section B — question no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions showld not exceed 50 to
60 words.

(iv) Section C - question no. 25 to 30 are dong ‘answer type questions,
carrying § marks each. Answer to these questions should not exceed 80 to
90 words.

(v) Answer should be brief and to the point. Also the above mentioned word

limit be adhered to@far as possible.
«Q

(vi) There is no o &ll choice in the question paper. However, an internal
choice has@'t provided in some questions in each section. Only one of
the ch@in such questions have to be attempted.

(vii) In addition tothis, separate instructions are given with each section and

question, wherever necessary.

Section - A
1. How are covalent bonds formed ? 1
2.  Define electropositivity. 1
OR
31/3/1. E' = 3 P.T.O.
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The atomic radii of first group elements are given below :

Group-I element Atomic Radii (pm)
Na 86
K 231
Rb 244
Cs 282
State the reason behind the observed trend in the above elements. 1

3. Answer question numbers 3(a) to 3(d) on the basis of your understanding
of the following paragraph and the related studies eoncepts.

The Tehri dam is the highest dam in India and one of the highest in the
World. The Tehri dam withholds a feservoir of capacity 4.0 km?® and
surface area 52 km?2. It is used for irrigation, municipal water supply and
the generation of 1000 1\@( of hydro electricity.

The Tehri Dam has %\é? the. object of protests. Environment activist Shri
Sunder Lal Bahugtha led the “Anti Tehri Dam Movement” from 1980s to
2014. The pr was against the displacement of town inhabitants and
environmer@ consequences of the weak ecosystem. The relocation of
more than 1,00,000 people from the area has led to protracted legal
battles over-resettlement rights and ultimately resulted in the delayed

completion-of the project.

(a) How is hydropower harnessed ? 1
(b) Define 1 MW. 1
(c) Mention two disadvantages of constructing Tehri Dam. 1

(d) What happens when water from great heights is made to fall on
blades of turbine ? 1

31/3/1. | BEmE 5 P.T.O.
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Questions numbers 4(a) to 4(d) are based on table given below. Study the
table in which the levels of Thyroid Stimulating Hormone (TSH) in
women are given and answer the questions that follow on the basis of
understanding of the following paragraph and the related studied
concepts.

Age Range Normal (mU/L) Low (mU/L)
18 — 29 years 0.4 -2.34 mU/L <0.4 mU/L
30 — 49 years 0.4 — 4.0 mU/L <0.4 mU/L
50 — 79 years 0.46 —4.68 mU/L <0.46 mU/L

Women are at greater risk for developing abnormal TSH levels during
menstruation, while giving birth and after going through menopause.
Around 5% of women in the United States have some kind of thyroid
problem compared to 3% of men. Despite claims that high TSH increases
your risk for heart disease, a 2013 study found no link between high TSH
and heart diseases. But a 2017 study showed that older women are
especially at risk for developing thyroid cancer if they have high TSH
levels along with thyroid nodules.
(a) A 35 year old woman has TSH level 6.03 mU/L: What change should
she bring in her diet to control this level ?
(b) When do women face a greater risk of abnermal TSH level ?
(c) State the consequence of low TSH. level.
(d) Name the mineral that is responsible for synthesis of hormone
secreted by thyroid gland.
K\Q
The sky appears d@‘to passengers flying at very high altitudes mainly
because : Q‘b
(a) Scatteri \f lightis not enough at such heights.
(b) There @10 atmosphere at great heights.
(¢) The size of molecules is smaller than the wavelength of visible light.
(d) The light gets scattered towards the earth.

A cylindrical eonductor of length ‘ and uniform area of cross section ‘A’
has resistance ‘R’. The area of cross section of another conductor of same
material and same resistance but of length ‘27’ is

A
(a) E
3A
b -
(b) 5
(c) 2A
@ 3A
31/3/1. E"E' 7 P.T.O.
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7. The maximum resistance which can be made using four resistors each of

. 1 )
resistance 5 Q1is

(a) 2Q
(b)) 1Q
(c) 25Q
(d 8Q
8. A diagram of traditional water harvesting system is given below :
The statement which defines the system and its parts is
«—A
C
L1 1
1 . 1 . 1 l
1 . 1 . 1 B —
| I |
| I |
(a) This 1s an ideal setting of the Khadin system and A = Catchment
area; B = Saline a{@& C.= Shallow dugwell
(b) This 1s an 1 Xetting of the Shallow dugwell system and A =
Catchment ; B =Saline area and C = Khadin
(¢) This 1s \deal setting of Catchement area and A = Khadin, B =
Salinetpea and C =-Shallow dugwell
(d) This is showing Saline area and A = Catchment area; B = Khadin
and C = Shallow dugwell 1
OR
The major ill effect of mono culture practice in forests is on the
(a) biodiversity which faces large destruction
(b) local people whose basic needs can no longer be met from such
forests
(¢) industries
(d) forest department 1
31371, | Ehe 9 P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

9. 31 Sl 3ue RSl i < Afedi A 3 B # yerfed st @ off | 34 <1 Afeai @
STeT S ST <l ToTT 7T | S&30T Shad WX I8 9T T fob €t A %1 STt 31t o Saifep 1t
B 1 SToT &T09 1 | A e B % fene feurq Sherefiai € —
(a) A fehe GTA 3R STuHTSient 6t a1 B o fehe I& SHr@Hl <l |
(b) B fehe TG 3R STUHTSIeRT 6t AT A o ek Ie-Hr@Hl il |
(¢) A frpe oie garetss sl fmior 6 aur B o fehe |TeH TR 3quTSieh! <l |
(d) B fehe oie TaTares sl fmiu 6 aur A & fehe |1 TR STquTSieh] i | 1

10. TrAferRa i @ fepe 7o verel sht wea™ ftafda & aidl 8 ?
(2) TYU W@ S
(b) Toreeem afshan g fopeeati o1 &
(c) 3T %1 fepuad
(d) IS 19 1

11. I8 Soft faerm ‘A’ SRfewafer faeram 1 et ot gar (1 faorem ‘A 4 foeft s
et fererar ‘B #hi el q¢ Terrst T foref 21 St 2 | feeridl ‘A 31 B’ o fofe
A RATHA G ?
(a) AYEA GR 2 AU B oA AR |
(b) ATES AT AU B A AR |
() ASpH7E ARG AN BHIpH 7TAHFAS |
(d) AWpH7@WW@ﬂpH7@3TFW%I 1

12. aﬁéwxmw@%ﬁ%mgﬁ%mwﬁﬁwﬁﬁ@rﬁﬁ
(a) aagmmsr@ﬁ
(b) TE 27T 39
() g 133 37rad 3.7
(d) H9E 16 71 M 34 1
IO
e X e o g 13§, & 9 R H e feu Tu sy i fomm il
(A) T 3Ty ATedEs ST 8 |
(B) 3Eeh! GAIShAT 32 |
(C) 38 FiTge 197 XCly 7 |
9 98 o B
(a) e (A)
(b) et (B)
© (A)3IR(O)
d) (@A), (B)IAR(C) 1

31/3/1. | BEmE 10
[=]

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

9. Several factories were pouring their wastes in rivers A and B. Water
samples were collected from these two rivers. It was observed that sample
collected from river A was acidic while that of river B was basic. The
factories located near A and B are
(a) Soaps and detergents factories near A and alcohol distillery near B.

(b) Soaps and detergents factories near B and alcohol distillery near A.

(¢) Lead storage battery manufacturing factories near A and soaps and
detergents factories near B.

(d) Lead storage battery manufacturing factories near B and soaps and
detergents factories near A. 1

10. In which of the following, the identity of initial substance remains
unchanged ?
(a) Curdling of milk
(b) Formation of crystals by process of crystallisation
(c) Fermentation of grapes
(d) Digestion of food 1

11. An aqueous solution ‘A’ turns phenolphthalein selution pink. On addition
of an aqueous solution ‘B’ to ‘A’, the pink colour disappears. The following
statement 1s true for solution ‘A’ and ‘B’.

(a) A 1is strongly basic and B is a weak base.
(b) A s strongly acidic and B is a weak acid.
(¢) A has pH greater than 7 and B-has pH less than 7.

(d) A has pH less thanQQand B has pH greater than 7. 1
12. An element X is for@%g an acidic oxide. Its position in modern periodic

table will be NS

(a) Groupla eriod 3

(b)  Group Period '3

(¢) GroupP3 and Period 3

(d) Group 16 and Period 3 1

OR
Consider the following statements about an element ‘X’ with number of
protons 13.

(A) It forms amphoteric oxide
(B) Itsvalency is three
(C) The formula of its chloride is XCl,4

The correct statements(s) is/are
(a) only (A)

(b) only (B)

(¢) (A) and (C)

(d) (A), (B)and (C) 1
31/3/1. E"E' 11 P.T.O.
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Note: For question numbers 13 and 14, two statements are given-one
labelled Assertion (A) and the other labelled Reason (R). Select
the correct answer to these questions from the codes (a), (b), (c)
and (d) as given below :

(a) Both (A) and (R) are true and (R) is correct explanation of the
assertion.

(b) Both (A) and (R) are true but (R) is not the correct explanation of the
assertion.

(¢) (A) 1is true but (R) is false.
(d) (A) 1is false but (R) is true.

13. Assertion (A) : Following are the members of a homologous series :

CH,OH, CH,CH,OH, CH,CH,CH,0H

Reason (R) : A series of compounds with same functional group but
differing by — CH,, — unit is called ashemologous series. 1

N
14. Assertion (A) : All \are commonly used in electrical heating devices
like electric iron a eater.

Reason (R) @sistivity of an alloy is generally higher than that of its
constit@nt metals but the alloys have low melting points then their
constituent metals. 1

Section - B
15. Mention with reason the colour changes observed when :

(1) silver chloride is exposed to sunlight.

(1) copper powder is strongly heated in the presence of oxygen.

(111) a piece of zinc is dropped in copper sulphate solution. 3
31371, | Ehe 13 P.T.O.
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16. Complete and balance the following chemical equations :
@» NaOHg,+Zng —
(i) CaCOy, +H,0, + COy, —
(i) HCl,, +H,04 — 3
OR

During electrolysis of brine, a gas ‘G’ is liberated at anode. When this gas
‘G’ 1s passed through slaked lime, a compound ‘C’ is formed, which is used
for disinfecting drinking water.

(1) Write formula of ‘G’ and ‘C’.
(11) State the chemical equation involved.

(111) What is common name of compound ‘C’ ? Give its chemical name. 3

17. Study the data of the following three categories A; B-and C.

Category Name of the Atomie
element Mass
Li 7

A I{@& 23
A&ﬁ( 39

$Q\Q"" N 14

B P 31
As 74

B 10.8

C Al 27
Ga 69.7

(1) From the given three categories A, B and C, pick the one which
forms Dobereiner’s Triads.

(11) Why did Mendeleev placed elements of category A, B and C in three
different groups ?

(111) Is Newland law of octaves applicable to all the three categories ?

Give reason to justify your answer. 3
31371, | Ehe 15 P.T.O.
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21. foreft feu T gL arel Tete & WY S GG T AT AT R 9T R q Il [errs b q
Il gg U TUATTATE | 34 1 THeN o sTe HehioT U T 8 |
(a) = fEU STTER 3794 S&oli <6 FET §15T
(i) 3Th! F, "ald H a4 1T,
(i) afe F, gald o o o1 & 00T07 S Se d F, Safd § 9 q- arer gl 3
gfcrre,
(iii) F,"akid GG 3R Gg 1 3149
(b) 3T GHIUT hl T o LR YT T Fsehy TeTett < Hha1 8 7 3
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18. (a) From the following group of organisms create a food chain which is
the most advantageous for Human beings in terms of energy.

Hawk, Rat, Cereal plant,
= Goat, Snake, Human Being

(b) State the possible disadvantage if the cereal plant is growing in soil
rich in pesticides.

(¢) Construct a food web using the organisms mentioned above. 3

OR

(a) Write two harmful effects of using plastic bags on the environment.
Suggest alternatives to the usage of plastic bags.

(b) List any two practices that can be followed to dispose off the waste
produced in our homes. 3

19. (a) State the role played by the following in the process of digestion.
(1) Enzyme trypsin
(11) Enzyme lipase
(b) List two functions of finger like projections present in the small
intestine. 3

20. (a) Classify the followiigras homologous or analogous pairs :
(1) Broccoli a abbage
(i) Ginger and Raddish
(111) Fore di F}gs of birds and lizard
(v) mgs of a bat and Wings of a bird

(b) State the main feature that categorises a given pair of organs as
homologous or analogous. 3

21. A green stemmed rose plant denoted by GG and a brown stemmed rose
plant denoted by gg are allowed to undergo a cross with each other.

(a) List your observations regarding
(i) Colour of stem in their F, progeny

(i) Percentage of brown stemmed plants in F, progeny if F, plants

are self pollinated.
(i11) Ratio of GG and Gg in the F, progeny.

(b) Based on the findings of this cross, what conclusion can be drawn ? 3
31371, | Ehe 17 P.T.O.
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292. = feuu 3@ § =18 fara O qun 35 Afdfaa sl [ F e T 8 |
M

|
|
O
1 /\
9F F \/
39 fotur 3@ =i qU fop fomt Fraferfiaa =1 Seor@ shifsu -
() <E 1 IR (FREH/ 3™ET)

(1) 39 < TR T o A1 ferfaw o 39 genr w1 wfdfara sHaT 2 |

(iti) Afe 30 HF % TIH T BIohe gl 1 IS STaqet qIU1 T G GO 36 HHH f/2” g
W IS fore @ <, @ &4 9o kst o i e sht gt ST | 3

23. Tr=faiaa & swro &

() Toreht emrael wieft aftferent o Rl & frehe Sraehir & tad = d srfimafi gt
2 3T TR Bt € |
(i) T feifed fhT S W R fforsht weh form feom & 3t 2 |
(iii) oot (Set) RIS AR 1 GEEH ST o RS gRI &1 Ficeertud (Sea) feram S
ey | K\Q
O
¥
24. (a) FEIHA FHEGHNE 61 HETere & et ie % s & o o1et wered wehervft s
9 1 R |
(b) fe 39 Thavfl TehTs1 4 1 Ad TehT¥T o Tact Y1 & Tfaefud ot feam S ar =
BT 7 3

Jreran
(a) IS e Hehe e S aT &rd gfee g1 & Hifed &
(1) 39 B 6 ThR & F I HT Thd & 7
(i) 39 THR & oid fhH THR AT IAC & 7

(b) foreft =afara =1 el gfee S 6 wemiem o fTT + 3D @ ofF a1 feke gfse g & forn
—3D < & hl TTEIIRAT Bldl & | 9 SIS bl GNHUT H ITA 34 GEI shl BIhE
it afthiera i | 3
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22. The diagram given below shows an object O and its image I.

Al
I

IR JA
Y

Without actually drawing the ray diagram, state the following :

@)
(i1)
(iii)

Type of lens (Converging / Diverging)

Name two optical instruments where such an image is obtained.

List three characteristics of the image formed if this lens is replaced
by a concave mirror of focal length f and an object is placed at a

distance /2’ in front of the mirror. 3

23. Give reasons for the following :

@

(i)

(iii)

24. (a)

(b)

(a)

(b)

31/3/1.

There is either a convergence or a divergence of magnetic field lines
near the ends of a current carrying straight solenoid.
The current carrying solenoid when suspended freely rests along a

particular direction.

The burnt out fus@hould be replaced by another fuse of identical
rating. SQ\ 3
¥
&

. N .
With th@elp of labelled ray diagram show the path followed by a
narrov&eam of monochromatic light when it passes through a glass
prism.
What would. happen if this beam is replaced by a narrow beam of
white light ? 3
OR

A person is suffering from both myopia and hypermetropia.

(1) What kind of lenses can correct this defect ?

(11) How are these lenses prepared ?

A person needs a lens of power + 3D for correcting his near vision

and —3D for correcting his distant vision. Calculate the focal lengths

of the lenses required to correct these defects. 3
e 19 P.T.O.
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25. Hqfetd TaTfeh THR for@eht Sme shifve foh == gidT & 979 —

@)
(i1)
(111)
(iv)
(v)

@)

(11)

(1i1)
26. (a)

(b)

(©
(d)

27. (a)

(b)
28. (a)

(b)
(©
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TR SATFTEE i TR fohaT AT 2 |
R TS TR RLE HeHI5S & 01 =61 T fopan Jram 2 |
uefifrm 6t S SestiaTse o Stfufhn wR S ® |
Hiteh tfeaTse 1 afiifrm & @y srrafa e ST e |
e raive 1 feamA grar 2 | 5
reran
TAFEAT o TAHT=ROT g AT FeAIgs H e ST SISy a1 39 Afies o
IR AT <hl Tg=H hIT |
FT AT 31 2d & | $9shT STl ST |
fereRt armg W Wi <At fora ot €T o foTu IrnfiTes e &1 amifed M@ Eifaw | 5
AT 3R STquTSiehl (FEetaiel) St et e Heel 3T ol St H TwTg Jfshan
% SR T IR |
T BT 8 T QAT difeam u1g & 3rfufshar wtar 8 2 3@ rfufean § wdhia %
FER % I T oo HIfT |
TR o1 =T EifT |
= feu e Aifires w1 7 ferfew
T

oo
1o G- OBy

0 H® 5
N @%W%ﬁﬁmaﬁﬁwaﬁmﬁmwﬁmaﬁw%mﬁﬁw
ER |
AT BT B T BT aTfEertaT o fepm 4 el 1% eror @ S g ? 5
ToreRt o0k AfishTal TR TATSRUT T TSl €91 o foiu 3 Eifae 3t 38 w =
few et ot 3ifera HifvT
(1) TR
(i) TR
(i) afdem
(iv) HTET S Hif3TehT
T 1 T fIRgu |
57 o 3 9T o1 919 feIRaw it e & 9vad (1) 99 (1) e U faspRa s S g | 5

Jreran
ofio
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Section - C

25. Write balanced chemical equations to explain what happens, when

(1) Mercuric oxide is heated.

(11) Mixture of cuprous oxide and cuprous sulphide is heated.

(111) Aluminium is reacted with manganese dioxide.

(1v) Ferric oxide is reduced with aluminium.

(v) Zinc carbonate undergoes calcination. 5

OR

(1) By the transfer of electrons, illustrate the formation of bond in
magnesium chloride and identify the ions present in this compound.

(11) Ionic compounds are solids. Give reasons.

(111) With the help of a labelled diagram show the experimental set up of
action of steam on a metal. 5

26. (a) Compare soaps and detergents on the basis of their composition and
cleansing action in hard water.
(b) What happens when ethanol is treated with soedium metal ? State
the behaviour of ethanol in this reaction.
(c) Draw the structure of cyclohexane.
(d) Name the following compound.
H
|
H |c| (lj Hg\@&

O H @, 5
27. (a) Write the ect sequence of steps followed during journey of oxygen
rich bl om lungs to various organs of human body.
(b) What happens when the system of blood vessels develop a leak ? 5
28. (a) Draw a diagram showing germination of pollen on stigma of a flower
and mark on it the following organs/parts :
(1) Pollen Grain
(1) Pollen tube
(111) Stigma
(iv) Female germ cell
(b) State the significance of pollen tube.
(¢) Name the parts of flower that develop after fertilization into
(1) Seed
(1) Fruit 5
OR
31371, | Ehe 21 P.T.O.
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(a)

(b)
(©

29. (a)

(b)
(©

(d)

30. (a)

(b)

“THUSH T ITAM A forerm 1 Afekfera gHT felTi (TW Td &) o foIe amvenrt g

& |” Tl R Algd 39 HUA i If¥ HifT |

8} feres Miferat mefemor <l ek § ford TehR T@mraT e @ 7

T =RTeRes T fohR haEd @ ¢ Tt TRy T g Tohw TR gufera shtan

2 7 (Tordhl wep aftormm =1 Ioor@ hifve ) 5

= feu T 3@ § ST T AiaUEeh % HASE o fg M 3R N & 9 g

yferier F1a I |
Rq

SJet %1 arod fem ferfia |

& 39 Torgd s&at & foTq St 220 V 08 1 kW Siferd ST il B, 5 A 1A

% WIS <hl STTavIhal HT B 8 ?

Toreht fargga o TR fopeft forega araes 1 Aoft sh9 | TG HTAT TR FAT el

g7 Q 5
O

fopeht g wien E@}m%ﬁqml%gtmaq‘wﬁmﬁw5m% | Ifg IS TTES

HT HIFT 1 g e 2, A1 Gl qUul § & 39 WTeh o Wit i

feufa, TTSH TG 1T |

o1 T e fafeseash 3 aefifie 1§ | S g S Fe 6 o oo ¥

I ThST §AT & STEH T qUUl O 2 | $9 GUUT ol Tehid Wl Jooi@ eI 3R g1

Fafercdes GRT ST fohT ST aTet o1 § 36 YT o ol & ol RVl faRaw | 5

JrerEn

Y foret gEatEr foRivs & J&T 3 se@d fe@m T | gEaiE fauivy 3 39 %1 &
foru wep foreis werR 5 i@ h1 S9N fomam |

@

TH 18 ! Tehidl o1 Ieei@ hITSTT 3TN 38 T T ITANT ohi 1 HRVT ARG |

(i) TG fORIvS 1 39 oiF ! Hal TG AT dieh fohet foma o1 amafaes 3T

STrafiia gfdfars g g ¢

(it) afe 39 < 61 B8 gt 10 cm 2 71 38 O B &I § 5 cm T W @R,
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Tl oI G 1 ST hieh o aTet Ffaferal h feafa 3R argst 71a hife | 5
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(a) “Use of a condom 1s beneficial for both the sexes involved in a sexual
act.” Justify this statement giving two reasons.

(b) How do oral contraceptive help in avoiding pregnancies ?

(c) What is sex selective abortion ? How does it affect a healthy society ?
(State any one consequence)

29. (a) For the combination of resistors shown in the following figure, find
the equivalent resistance between M & N.
M
>
RZ% R3
Ry

(b) State Joule’s law of heating.

(¢ Why we need a 5 A fuse for an electric iron which consumes 1 kW
power at 220V ?

(d) Why 1s it impracticable to connect an electric bulb and an electric
heater in series ?

$
30. (a) A security mir &used in-a big showroom has radius of curvature 5
m. If a custo@er is standing at a distance of 20 m from the cash
counter, fil\% e position, nature and size of the image formed in the
security. mirror.

(b) Neha wsited a dentist in his clinic. She observed that the dentist was
holding an instrument fitted with a mirror. State the nature of this
mirror and reason for its use in the instrument used by dentist.

OR

Rishi went toa palmist to show his palm. The palmist used a special lens

for this purpose.

(1) State the nature of the lens and reason for its use.

(11) Where should the palmist place/hold the lens so as to have a real and
magnified image of an object ?

(111) If the focal length of this lens is 10 cm and the lens is held at a
distance of 5 cm from the palm, use lens formula to find the position
and size of the image.

BU/3/1. | B 23
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